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	Location
	Old Text
	New Text

	Page 31 last sentence before Equation (2.6)
	“This is because the voltage per turn ratio is almost constant in the primary and secondary windings”
	“This is because the primary current is constant and only dependent on the network load, while the voltage on the secondary winding is dependent on the impedance Z between its terminals.”

	Page 31 Equation (2.6)
	
	

	Page 31 Equation (2.7)
	
	

	Page 31 Example (2.2), second paragraph
	“Estimate the voltage across the secondary winding if its terminals are opened”
	“Estimate the voltage across the secondary winding if an ammeter of 0.1  is connected across its terminals. Also Estimate the voltage when instead of the ammeter, a device with 1.0k is connected across the secondary terminals.”

	Page 81, Figure 4.26
	Hot water out
	Steam out

	Page 83, Figure 4.27
	Hot water out
	Steam out


Page 31 Example (2.2)
Replace the existing solution of the example with this one
Solution:	
CTs are designed to have 1-5 A in its secondary windings. Let us select 2A. Using Equation Error! Reference source not found.


When the secondary winding is connected to an ammeter, the voltage across it is

When higher impedance device is connected across the secondary windings

This level of voltage will certainly damage the CT.
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